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A, 4 ( b ra q.=__-=_—' I _ q - 4 ?==_w ;w DirectonS Show all work on
wose-leal paper, i mpl TF\{ all answers - .

#1-4: Match each graph with its function.

1)y=—2x2+2 2)y=-x2 3)y = 2x 4>y=3x2—4
B.

A. : y 4‘}/ C. *\4 }7 D. F y
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#5 & 6) Find the line of symmetry and the vertex for each function. The line of symmetry must
be written as an equation and the vertex must be written as an ordered pair.

. 3 2
) \/;»—%x‘q-rfj 9 Y =TZ3x —lx+5

#J7¢ gf Graph the function. You MUST graph and label at least 3 points where one of the ordered
' pairs is the vertex.

-‘1) y=x’+dx+1 ‘ | ?) ﬁ[’/’() = "3707—'/7[

# 7@/‘7) Find the solution(s) of the quadratic by either factoring, square roots or using the
. quadratic formula. If necessary, round to the nearest hundredth.

q) 37~ 194=0 H#15-17) Solve eath werd probtem.
/o) "71’&‘//28 5Y N

2 o, What is the radius of the largest circular quilt that can be made with an area
I I) 4 + lfﬂ/ ’OZ/ = 0 ' -equal to 70 ft?? Round your answer to the nearest tenth of a foot if
necessary.
)3) A2 5x = (o N
, 3 ¥ _81 =0 /é) The square yard you are mowing has an area of 9600 ft2. What is the side
, ‘ length of the yard? Round your answer to the nearest tenth of a foor if
necessary.

) Ha4ox+100 | S

/ 7) A golfball is driven in the air toward the hole from an elevated

tee with an
upward velocity of 160 ft/s. Its height & in feet after ¢ seconds is given by the
function & = —16 + 160t + 18. How long will it take for the golf ball to
reach its maximum height? What is the ball’s maximum height?
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Name: Class: Date:

Algebra qol—‘l#/ﬂ!?w;wm

.oose-lea}'paper& 3impl TF\[ all apswers

#1-4: Matflj each graph with it@ction. @ @

Directions. Show all work on

1)y=_2x2+2 2>y=_x2 3)y=2x2 4y = 3x2 — 4
A. B. : C. D.
A A R L
2 1% 19 I N
X I X HE o] [x
—4-2/ [\2 4 —4-2\[/2 4 ~4-2,] 2 4 -4-2/1\2 4
[ 1\ L L, [ 1\
r v I 2

#5 & 6) Find the line of symmetry and the vertex for each function. The line of symmietry must
be written as an equation and the vertex must be written as an ordered pair.

. | 3 2 = 2
5) Y = _klrxi_;% 6) Y =X ._[Q‘)L—G—S g{il'/.>
'?013)

on. You MUST graph and label at least 3 points where one of the ordered

#’7¢ X:’ Graph the functi

pairs is the vertex.

7) y=x>+dx+1 ‘?ﬁwuﬁ/ 3) /'0[’,’() & ’5%2—'17[ 4;2;‘1224#24/

# 7}/’7’) Find the solution(s) of the quadratic by either factoring, square roots or using the
. quadratic formula. If necessary, round to the nearest hundredth.

‘?) 3’1[2— 194=0 £ 8 H15-/7) Solve eath ward problem.
/o) '72/&"//2326 .yl S o

’ at is the radius of the largest circular quilt that can be made with an area
1) 4% 4a, =21 =0, Pt

equal to 70 ft>? Round your answer to the nearest tenth of a foot if
A 2 B 2 necessary. lf, _
13) 4y 2 5x = )7 45 7

, Z L2_81 -0 *9 /(0) The square yard you are mowing has an area of 9600 ft>. What is the side
/ - length of the yard? Round your answer to the nearest tenth of a foot if

W) 400 B

{ /7) Agolfball is driven in the air toward the hole from an elevated tee with an

upward velocity of 160 ft/s. Its height k in feet after ¢ seconds is given by the

function & = —16#2 + 1607 + 18. How long will it take for the golf ball to
reach its maximum height? What is the ball’s maximum height?

Ser attached,
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4 b
X7z N A Zeo
A

Ll —%
/X"—’- Z/—_g/ 2’: =70
7= p
X=3 Y =2
(/m = =)
S NS

==X ’é7(+5— V= ?({L"/j(#/

AV-6(2)+5 ) =(234(3)+]

1@_@*5 )= 4+ -8+]

((0.3) lo-[2+5 {/=-3
[— == e
S (=22
W(Z-1)s
—— P e s - s e (R
{f Y-intereapt =(0, ] )




7N 3x2/92=0 [3) W 5=,
’ +/7z 92 HY*5% b =O
53 =/92 XAC Faetoring /Netther/
5 w
(Y HKZ-8% r3 X~y =O
/7?,_/1;’6[ (472 002’3 f/??’—/ﬂ) =0
(x=%8] //y/ﬁz—,ﬂf 3/1—2) =0
M
| //7’1 75\/ 7-2) =0
0) |- T34 =
g +4) +4/ [H4¢3)=0 or /1/,2),0
- T =47 £ =z 2o 2
iy tly=-32 xX=2
72:"’7 n o A Y
(\/170180/40’7'0)’\7 /(—‘— _3 ovr 7223
e S ———
Il 2%t —2 = O
SeAL Fathng Method /3) ¥E8/=O
4 r8l &/
g n-3a-2/ =0 /&%/
(a f7¢\+/54—2/) = ?”1;@
a(a+7)-3 [a+7)=0 (X=%9)
LL_./—’)
/a 3 YarD=0
a 3= or d-r‘w

=3 or  4=-73
N ——




N £2 x-H0=O
%plf/[lé‘/f 7f7ﬁ0/n/ﬂ/ S&Lazz/a/
(A% ~10)=0
X’X'/O =0 P .;e
#HO _+/0 (/T) h= et +6ot+(8
29( /0
4 A= -b
/ X = 5 N Aa
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TR —7@0+ P00 +/8
_ =SSP
b) A=S* - o
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